Log to platform with

Date: Sep 28, 2017 — 11:12am

e
—
- o
\1,\ \,1,\ 1/M10, 100 long cup =
Cu. s T 375 e T square bolt, 30x2.5mm 75 &
e 50 100 50 . 50 100 95 e flat round washer and 5
< ad ., | | | | | Max. sleeper " cad g double nut | o)
s | | | | | ‘ cantjlever 500 e IS5
a SRR ! a | RTINS
a4 . 4
L. -4'. L 4
F .'-4'q a. .4- q.
al [~ 3 DETAIL /B R
- ' . 5 -
S el FlR et i = Scale A S
ol A 5@x6 egual angles " 20mm radius e .
~N | B 4. e fixed with 6mm 4.
— R continuous fillet ) Ces
s weld all round Sleepers fixed to angle T
o bracket with 2/M10 R
¥ [ R . ’ X ’ 4
T— | 337522 "N 20mm radius 75mm long cup BT
o square bolts per T
e T sleeper per connection e
~ Angle bracket to wall with 2/M10 -
stainless steel chemsets (90mm . .
bedment). Provide plasti Pine log escape pole fixed
embedment). fovige plastic spacers with 8mm long link chain
between galvanised and stainless hanger and with 1/M10, 150
steel surfaces to resist bimetallic 9 lona_hex heod’ bolt
corrosion due to dissimilar metals. g ’
30x2.5mm flat round washer
each side and double nut
SECTION /3N SECTION /4
Scale B 9539 Scale B 0530
The structural work shown on this drawing is considered to
be structurally sound, and suitable for the design loads.
All construction to be as per current Australian Standards
and Building Codes, in accordance with MBRC requirements,
and in a professional and tradesmanlike manner
f ¥ *
| 7 ; IAN BARNES & ASSOCIATES P/Ltd
b ! L ”. , CONSULTING ENGINEERS  ABN 70 057802490
S ! L 5 P.O. Bex 1378 Office : 07 5495 8444
i CABOOLTURE 4510 Mobile : 0418 873 320
Not to scale é RPEQ 3333 Date : 13/09/2017
REVISIONS NT DATE SCALES Drawn B.W Date | 07/16 /4%
€ Coordinator Date %
A B 120 M n Ba
o s s 7 AUTHORISED ogilo;?au’:ouncil
. B e’ 15 FAUNA MOVEMENT SHELF
DRG No.
B |Approved by Structural Engineer TCc /17 057¥0D7/1J6ERRAM SHEET 2 OF 2 GI'0531
A [MINOR DRAFTING CHANGE c | 417 ‘ ‘ RO SIZE REVSON
Manager Integrated Transport Planning & Design
ORIGINAL ISSUE BW | 01/2016 RPEQ 6872

File name: :\User_Group\Design_Services\f§ Projects\MBRC Standard Drawings\AutoCAD Files\02 — Green Infrastructure\GI-0530-G-0531 — Fauna Movement Shelf.dwg



AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
INIT

AutoCAD SHX Text
DATE

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
E

AutoCAD SHX Text
REVISION

AutoCAD SHX Text
ORIGINAL SIZE

AutoCAD SHX Text
DRG No.

AutoCAD SHX Text
SCALES

AutoCAD SHX Text
AUTHORISED Manager Integrated Transport Planning & Design RPEQ 6872

AutoCAD SHX Text
Drawn

AutoCAD SHX Text
Coordinator

AutoCAD SHX Text
Date

AutoCAD SHX Text
Date

AutoCAD SHX Text
ORIGINAL ISSUE           

AutoCAD SHX Text
A3

AutoCAD SHX Text
BW

AutoCAD SHX Text
01/2016

AutoCAD SHX Text
B

AutoCAD SHX Text
MINOR DRAFTING CHANGE

AutoCAD SHX Text
TC

AutoCAD SHX Text
4/17

AutoCAD SHX Text
Approved by Structural Engineer

AutoCAD SHX Text
TC

AutoCAD SHX Text
7/17

AutoCAD SHX Text
50x6 equal angles fixed with 6mm continuous fillet weld all round

AutoCAD SHX Text
20mm radius

AutoCAD SHX Text
20mm radius

AutoCAD SHX Text
Angle bracket to wall with 2/M10 stainless steel chemsets (90mm embedment). Provide plastic spacers between galvanised and stainless steel surfaces to resist bimetallic corrosion due to dissimilar metals. 

AutoCAD SHX Text
SECTION

AutoCAD SHX Text
Scale

AutoCAD SHX Text
3

AutoCAD SHX Text
0530

AutoCAD SHX Text
B

AutoCAD SHX Text
DETAIL

AutoCAD SHX Text
Scale

AutoCAD SHX Text
B

AutoCAD SHX Text
0530

AutoCAD SHX Text
A

AutoCAD SHX Text
SECTION

AutoCAD SHX Text
Scale

AutoCAD SHX Text
4

AutoCAD SHX Text
0530

AutoCAD SHX Text
B

AutoCAD SHX Text
Edge of platform

AutoCAD SHX Text
300

AutoCAD SHX Text
0

AutoCAD SHX Text
100

AutoCAD SHX Text
200

AutoCAD SHX Text
400

AutoCAD SHX Text
1:20

AutoCAD SHX Text
mm

AutoCAD SHX Text
A

AutoCAD SHX Text
0

AutoCAD SHX Text
mm

AutoCAD SHX Text
75

AutoCAD SHX Text
25

AutoCAD SHX Text
50

AutoCAD SHX Text
100

AutoCAD SHX Text
1:5

AutoCAD SHX Text
B

AutoCAD SHX Text
Log to platform with 1/M10, 100 long cup square bolt, 30x2.5mm flat round washer and double nut 

AutoCAD SHX Text
Sleepers fixed to angle bracket with 2/M10, 75mm long cup square bolts per sleeper per connection

AutoCAD SHX Text
Pine log escape pole fixed with 8mm long link chain hanger and with 1/M10, 150 long hex head bolt, 30x2.5mm flat round washer each side and double nut

AutoCAD SHX Text
EXAMPLE PHOTO Not to scale

AutoCAD SHX Text
B.W

AutoCAD SHX Text
07/16


	Sheets and Views
	Sheet 2


